'Adda

247

Eﬂgh'sh Version
1. The relevant question corresponding ¢ :
jevel of teaching will be— & to reflective
(A) Explain the essential differences between a cat it
arat.
(B) What is the past tense of the verb ‘come’?
(C) Describe the geographical location of Assam.

(D) Had Hilsa fish lived long out of water. what would
be your explanation?

PART—A
Child Development & Pedagogy

2. A teacher identifies the difficulty in pronunciation
of a child while reading English prose loudly. This may
be ca]led—-

(A) Assessm.em of learning (B) Assessment for learning
(C) Summative evaluation (D) Diagnostic testin g

3. Assertion (A) :

Continuous and Comprehensive
Evaluation (CCE) solely focuses
on academic achievements and
examination results.

: CCE incorporates both formative
and summative assessments to
provide a comprehensive view
of students’ overall development.

Choose the correct answer from the options given

Reason (R)

below:

(A) Both(A) and (R) are true, and (R) is the correct
explanation of (A)
Both (A) and (R) are true, but (R) is not the
correct explanation of (A)
(A) is true, but (R) is false

(A) is false, but (R) is true

(B)

©

(D)
4. The rules for when and how to use language in a
particular culture is called—

(A) Syntax

(C) Phonetics

(B) Pragmatics
(D) Semantics

5. In Maslow’s hierarchy of needs, self-actualization
is analogous to—
(A) extrinsic motivation
(C) reward and punishment (D

(B) need for achievement
) intelligence

6. One of two learners of same class obtained 4; a::
the second one 90 in the same test of same subject. 50
may say—

(A) Second possesses twice the skill of the first

(B) Second’s knowledge is twice thatfof the first
f the first

(C) Second got half the marks 0

(D)) First got 45 marks less than that of the second

(3]

GET IT ON

Google Play

Bengali Version
1. e fowa wraa Mrwea et omf 2ra—
(A) faeia @ Bqraa s sty At afE 2yt s
(B) 3af&0e ‘come’ -f&Fata oo oia 912
(C) ST COefEs Sravga a<fa a3t |
(D) =f 3ot wi1g Gera ai2ra swaarse (A5 AT orEeE
CSE At HTwe

2. A o SwATa orwarz ww ftwat/frss fraw
Troratera srifast Wee wrae | afbtE T4 TS oiA—
(A) P SOGPIS  (B) i &=) SOtars
(C) pOIE SEnTE (D) s srsrs

3. fAfeA) : e aar AEE T oo ot
fimsiote Ffog aa HAHE FaTEEE SR
w% foram a4

. yrarafEE g AEe g EEdiee
Rerea 93 1o Fee* ARE T
TFEE A |

e e e s T @ &

(A) (A) € (R) TOER 79, 9K (R) = (A)a3
Afrafrce #fds T

(B) (A) € (R) =R 7w), % (R), (A)143
AAfeifrre A5 TR0 =T

(©) (A)== 7y, g (R) = e

D) A)z faa, 78 (R 79

& (R)

4. @A g ReEAgre 4 TR IR S IR
%41 203, OF FRaaTs @ W—
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7. If List-I is matched logically with List-II, what will 7. i wfere -8 T e ey
be the correct option among (A), (B), (C) and (D)? 41 T, S AR (A), (B), L ﬁF{ﬁaﬁ;
List-1 List-IT AW LA ? i
(Levels of Teaching) (Learning Qutcomes) wiferl I ”ﬁ,#g
(a) Memory Level (i) Assessing own learning (Freta TFTR) (P % )
(b) Understanding (ii) Recalling and (a) =foa @A (i) ST T
Level . reproducing information (b) YIS T (i) STAA PLEST TR [P
(¢) Reflective (iii) Establishing the cause- (¢ elfomem 77 (iiii) P ToTEA elfout wm
Level effect relationship
Codes: sk

(a) (b) (c) (a) (b) (c)

(A)  Gi) (iii) () A) (i) (iii) (t)
B) i) (i) (iii) (B) (i) (i) (iii)
© 0 (i) (iii) © @) (ii) (iii)
(D) (i) (ii) (i) D) (i) (ii) (i)
8. List of experiences: 8. wfeserd eiferal:
(I) Dramatized Experiences 1) wHs-og afecEs!
(II) Demonstration (I afe=fwa
(IIT) Contrieved Experiences (1) et wfSsEs
(IV) Direct Purposeful Experiences (IV) e SrTeTs Sifegas!
According to the Cone of Experiences of Edgar TN (TTER Sfewe! #EF FAA® 1’ afemet
Dale, the topmost four experiences in ascending order | B mT—
are— (A) (I), (D), (1), (IV)
(A) (D), (I, (1), (IV) (B) (1), (1), (D), (IV)
(B) (I, 1), (1), (IV) (C) (In), (I), (IIT), (IV)
(©) A, O, (D, IV) (D) (IV), (1ID), (1), (IT)
(D) V), (I, (1), dD) SN
9. For an individual learning, the unnecessary item 9. e fidra cvta s fRafd 7= —
is— (A) i =fedt
(A) Immediate feedback (B)_ 18 (Criterion) Sf&fe wrdre!
(B) Criterion Referenced Test (C) ot Fefes wrdrmt
(C) Norm Referenced Test (D) = =i
(D) Cueing
10. In the revision of Bloom’s taxonomy of instructional 10. o s Srwmrera ST QT (T AT
objectives in cognitive domain, the included and replaced @ fage frmef z—
items are respectively— (A) qiEsfH, @iy
(A) Attitude, Understanding (B) FCHE, F
(B) Synthesis, Valuing (C) weeeadt, Terw
(C) Synthesis, Creating (D) TEiEH, AEEe
(D) Creating, Synthesis
11. According to Bruner, the stages of learning in 11. FACTA oG T S ETH P gk @ —
increasing order are— — (A) SiFaenEs, TSoid, Aasfoe
enactive, iconic, sym _
((g; symbolic, enactjv:, iconic (B) TS, HAEFwrorgee, e
(C) iconic, symbolic, enactive (C) TS, FIRfows, AfFTONE
(D) preoperation, enactive, iconic (D) R Hraerd, SErenEs, yeord

[4]
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12. Which of the following is assumed to .
ap to @ certain period of human life? remain same
(A) Menlf‘l Age _ (B) CthllDiogica[ K

() Intelligence Quotient (D) Body height g

13. Match List-I with List-II and select whi
i hich
(), (C) and (D) is the correct matching. ich of (A),

List List-IT
(Learning phases (Features)
as per SE model)

(a) Engagement Learners delve deeper into
the topic, make connections
and apply concepts to real-

world scenario

(b) Exploration (ii) Hands-on activities and
participation in enquiry to
strengthen learners’
understanding

(¢) Explanation (iii) Attention-grabbing activities

to encourage learners’ interest

(d) Elaboration (iv) Judging learning outcomes
(v) In-depth discussion of
concepts and theories to
provide learners with
foundational knowledge
Codes:
(a) (b) () (d)
(A) (1) (ii) (iii) (iv)
(B) (iv) (iii) (i) (y)
(© (i) (i1) ) (1)
(D)  (ii) (i1) () v)

of a class could not complete their
So a part of recess was

This is an example of—
ent

14. The students
answers during class hours.
curtailed to provide more time- _ np
(A) positive punishment (B) negatp}c pgn:s m 2
(©) retroactive inhibition (D) megativeé reinforceme’
15. Which one of the following is the most suitable for
storytelling to the learners of class I?
(A) Drawing pictures on the b.oard .
(B) Asking questions 10 individual l‘eamers
(C) Using voice modulation and gg&-u;nng
(D) Asking learners to listen attentively

16. The learning associated with computer literacy

ll‘a.ining is—
(A) Associative learning
(C) Procedural learning

(B) Concept learning
(D) Factual learning

GET IT ON

Google Play

Bengali Version

12. t5a (@D TG G TN G G e T
RISESIEUE
(A) I 7T
(C) Ja%

(B) +T9ES® q9H
(D) tfEs Twel

13, wfere I-qawes eiferar 11-c@ eea e «aae s
F% (A), (B), (C) @ (D)-a2 W (F{ A%

wfert iferar 11
(SE ree St (4 8rT)
Fiizea =)
(a) Frfe () Frmdra faw oepEE 20,
HLHIo 17 FCA G AGICHCA
¥I9 ST 3
(b) wTERd (i) Frmior s «fea ==
G 2SI TN SR
SgEr S
(c) TJryiFa (iii) FrmSra s Tenke
T WCACEle @E T aFEr
FrfEFcE saerae
(d) =PI (iv) Predia fiecag warea
. vt
v) Prwdiee cifere @M et
T «Ed @32 $Tgd TOHE
AT
G :
(a) (b) (c)} (d
(A) (1 (ii) (iii) (iv)
B) ) (iii) (ii) (v)
(©) (i) . . @)
(D)  (@iD) (ii) )] (v)

14, Zrr e TR g R e CR T A0S ARE
faafoa fg st (B FITEa T AT 2 | @b T T —

(A) 2fEams = B) feaw< =ife
(C) *M51eTE! A (D) TS 4=
15. elam cufes Predfcee o1 TR csta fArars sraa
(S rafters T T
(A) (TS = Sl

(B) eirers PRt SAPSICT P 1
(©) i AL TerRe- e @ St w4
(D) PR AT FLIIC IS =

16. < feiEB AT el 7% I@ e 2o —

(A) it FE (B) el s
(C) ~afeers frem B) wsTS
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Scanned with ACE Scanner



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

GET IT ON

Google Play

PART—A
Child Development & Pedagogy

English Version

17. A child is repeatedly dismantling her toy gun and
repeatedly assembling the parts for learning to make a
complete toy gun. Which two of the given four learning
theories are mainly involved in the process?

(I) Thorndike (I) Pavlov
(ITT) Skinner (IV) Koffka & Kohler
Choose the correct option:

(A) (I) and (II) (B) (II) and (I1I)

(C) (III) and (IV) (D) (I) and (IV)

18. Which one of the following statements is
inappropriate in reference to Evaluation & Assessment?
(A) Continuous and Comprehensive Evaluation covers both
Scholastic and Co-scholastic aspects of students

(B) Diagnostic test is related to remediation

(C) Formative evaluation does not measure instructional
progress in classroom situation

(D) Summative assessment is a tool of evaluation used by
the teacher at the end of the whole instructional process

19. When learners try to think within the given
information, it is called—
(A) Concrete thinking
(C) Convergent thinking

(B) Abstract thinking
(D) Divergent thinking

20. Child’s inability to understand a situation from
another person’s point of view is called—

(A) Object permanence (B) Centration

(C) Ego-centric thinking (D) Transductive thinking

21. Deficit based approach in inclusive education is
discourageable, because—

(A) itallows teacher to discard the weakness of the learner

(B) it allows teacher to eliminate learning-teaching
materials as per necessity

(C) it does not empower the teacher to give due importance
to the learning ability of the learner

(D) it empowers the teacher to emphasise the learning
abilities of the learner

22. Teacher is not following the maxims of teaching
when she/he—
(A) teaches humanity first, then about human beings
(B) shows the picture of dogs first, then that of bears
(C) shows garden first, then its plants
(D) helps to form concept on the basis of common
characteristics

Bengali Version

17. mwﬁm?ﬂ%ﬁ?;ﬁ%
cetere T el e 392 cuig)
%;ﬁmsﬁﬁﬁmmﬂtﬂm@&w@ﬁm

eiféFara 7T ?
(];i@;ﬂ‘\sﬁ‘ﬁ (IT) ~hresTs
Ay Seal® e fAm

(B) (II) € (III)

(A) ()¢ (D)
(D) (I)e(IV)

(C) (1I)'e (IV)

18. wmewm%-moﬁwﬁrwﬁ?mmﬁqm
S ?
(A) P e ST PRIt o @ 2-féret sicerrs Ben
freafa AR I
(B) Freffares SIS ALTANLR WL LA TS
() o e el Aye s A s
(D) Wzl fAriaEe i o7 fafes/frse Acafts

19. T4 fFrwidfat eve ST N9 (TS Bura 68 #E,

Y ST I TH—
(A) ¥ o (B) Ty o
(©) wfemal fosw (D) T foww

20. wtUa yiee ity Mes @ 9y @RI SETeTE T
qre—

(A) <@ e gl
(C) =i Hus

(B) << oua
(D) Wi o

21. wwgfeEe P witfefefes w1 (Deficit based
approach)-3 &N SEeIEe Tl 27, Fd—

(A) ft RifRel/ Frrsrs frm Qe ieereices am fica arm e
gy |

(B) b fifeel/ e feder-fRse) sl ercare sepitd |
ifeet Tare At om

(C) @b Fifsy/frrats frndfa fiw-sregeices 7aRe
WFGAICH T S (I 71

(D) aft Fifset/ Prmatss frmiRia Fm-sresei awgle 759
I (DA

22. ﬁmfﬁfﬂﬁm%%waqwmmﬁﬁ#
(A) T T, AT I 9= (el

(B) T FLA B (AT 2 AT Sfofraa 2 Ol

(C) ST AN GrAI, #ITR aAfgaireT

(D) Ataract TaRRTes fefare g st sz Feae
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23. Which of the following sta¢e
with the concept of pedagogy?
(A) Pedagogy is related to the nees
(B) Pedagogy is indifferent to the
influence
(C) Pedagogy changes with the chan
(D) Pedagogy is evolving in natyre

ments doeg not match

of the learners
context of cultura]

gein the curriculum

24, Which approach is inappro
views?
(A)

Priate to Construclivist

Discovering
engagement
Cooperation in group learning

Provokii?g t? acknowledge multiple perspectives
of an objective phenomenon

Memorising a singular interpretation

something from empirical

(B)
©)

(D)

25. Consider the following statements,
(i) Developmental milestones are fixed and identical
for all individuals.
(i) Growth is influenced by heredity and environment.
(iii) Maturation involves the unfolding of inherited
biological potential.
(iv) Development is solely influenced by heredity.
Which of the following options is correct?
(A) Only (i) (B) (ii) and (iii)
(C) (ii), (111) and (iv) (D) Only (ii)

26. According to Kohlberg, the level of moral
development, in which an individual judges morality in
terms of abstract principle is—

(A) Pre-conventional (B)

(C) Post-conventional (D)

Conventional
Both conventional and
Post-conventional

27, Match List-I with List-II:

List-T1 List-II
(a) Self-esteem needs (i) Shelter :
(b) Self-actualization (ii) Meﬂ‘f““gﬁ_‘
needs relationship ,
(€) Safety needs (iii) Realizing one’s
potential "
@ B i iv) Refrain from anxi
e ((v) Recognition from
others
Now, choose the correct option.
C{}de’j‘:
@@ ® © O
(A) (1) (i1) ({u) i
(B) (i) (iii) (iv) D
€ vy @ e (i)
D) (V) vy @

[71
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(I “ corIotera wraet sr sposififs ‘

CoretoltS: fRremidta sifewts 10 sresideeres .
Co19NE Aegfes eroram cofiere ofS Twsfe il
mmmmcmﬁmm ‘
CoIO191f% 277 erpfostooia Rt |

23. Siva Sfeafn
e

(A)
(B)
©)
(D)

24,

ﬁﬁﬁw@ﬁﬁmﬁmmﬁﬁwﬂw? (I
(A) IR e a1l g o '
(B) wetars féisitar srzrafarer i
(©) @ tfes <Baie Rfen v e s i

TR Fal '
(D) At Gl fRrerar ptant 52 2=t !

25. farsre ffafs Ruasat v
(i) e Tamm @ S e e afes ovra 9o 7w
(i) e IS @ “Afdraraa vt ersife 23
(iii) ToIe tolRE eer e zE oifddw )|
(iv) Rt aag aoieifen wrat eretfae =)
iva @ Rl Afiwe
(A) 93319 (i)
(C) (ii), (iii) €% (iv)

(B) (it) @<® (iii)
(D) 9919 (ii)

26. (IERTRAACS, @ Aes R E @ ofe o

fifea fefere twfewsta foa o ram, o 75—
(A) #is-gdiae (B) 225w
(C) Ter-gamfe (D) =i @ Teg-2ere
Tom
27. wifer 1-93 7% eiferet 1 e -
erfeerl oIl
(a) S oifEw () wiem
(b) wig-efevm sifemt - (i) W e
(¢c) Farerara vifEwmt (iii) @I TSR T
(@ gl oI (iv) Sret (ars A
(V) SR FIR (AF g
@4, w5 et g |
IC :
(@) (®) (©) (d)
(A) (i) (ii) (iii) (iv)
B) (i) (iii) (iv) Q)]
© W (i) (i) (ii)
Wy Wi uyv) i) (1ii)
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Child Development & Pedagogy Bengali Version
English Version ’ e LLERCE e AT
28. Consider the following statements about Blomji’s 28. A R x ﬁ'qﬁ‘ﬁﬁ faraDe T - S
Taxonomy of Instructional Objectives and Learning ifafaur TATH erfel
Outcomes: . i) @ fora 5@ orF S B« wihel g fuy
(i) It categorizes learning objectives ranging frlnm W@WWW'
lower-order thinkingtohigher-ordcrthinkingskills. ! o w40 = 'Tjﬁ 20 T T
(ii) Thelowestlevel of Bloom’s Taxonomy is ‘Creating’, (i) F°HE At % T T
which involves generating new ideas and original rofa Fra R Gt @l 3 " \
concepts. o (if) e’ = o eifafaie™ Lﬂ?if? TwHFE B g
(iii) ‘Analyzing’ is a higher-lorder thinking skill in mmwwﬁ@.@mmmmmm
Bloom’s Taxonomy that involves breaking down
information into parts and understanding FA|
relationships. (iv) @f5 FriATad (P9E AFHAY O AR ARG AT
(iv) Itassessesstudents’ memorization skills and factual 7|
knowledge.
R LEIASISERIAY @i (o ?
Which of the four options is correct? _ )
(A) Only (i) (B) (i) and (iii) (A) @& (1) (B) (i) 9 (1)
(C) (ii) and (iii) (D) (ii), (iii) and (iv) (C) (ii)9=R” (iii) (D) (ii), (iii) 9 (iv)
29. Match List-I with List-II: 29, Fe5a wifer I-C Ofer 1-&3 F0R G
ist- ist-1
N List-1 Lrsf I P -

(Cognitive Development (Descriptions)

Concepts) (@I [ g A7) (RIFR)

(a) Schema (i) Modifying existing mental (@) &= () g TU TFEEFFAR T
structures to incorporate ﬁmﬂﬁﬁ*w pons
new information N ’ '

(b) Assimilation (ii) An organized pattern of ifRrer
thought (b) W@ (i) foer e rafye Fme

(c) Accommodation (i) Achieving cognitive (c) =G (i) wfeTarem «qar RAfSRETH
balance through p
adaptation and adjustment (@ i TG WTLTE ST Bl

(d) Equilibration (iv) Fitting new information ¥ (iv) e b FIOTIE T
into existing mental STE F A
structures Neoa v1al Teram

Which of the four options is correct? TG - T4 WY (P AR ? »
Codes: K
(a) (b) (c) (d) ) (a) (b) (©) (d
@) 0 Giy (i) (iv) e (@) Gi) ~ (i) - (iv)
® G G O (iii) C) iv) (i) i) (iif)
© G @ (i) S8 m g (iii)
o G Gy (i) (i) ) (iv) (iii) - @)
30. One of the major objectives of microteaching in ’
i . i 30. firwe offirm
Teacher Training Institutes is— o efSoim S ferETeE fora 00
2 SIS q ] SR U
(A) to give an idea of teaching skills o TH b gE— 1
(B) to give the concept of repeated teaching (A) Torme TS| T
- ¢ 4] =Wl
(C) to master the subject of teaching (B) ~eRrsre draey Gl

(D) to integrate the skills aching N TRtmrere
) rate skills of teaching (C) ™r=reg AT “iifesw) wreia

(D) Hreawrs
[8] TSl T2a cgfeae 3l
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DL

. emtafera (31 cors 31, ‘SatE (T S R AR | T I, A, A ’.
TS T AT, AT TGS TR IA—

(A) FAFTS! @RS (B) SMH (RIS

o 8 FrafAfre e =g e
19mﬁ’ﬁq}ﬂ;'f5_"‘§§?ﬁafmaa§,—.{
7 o (AT ST B AT | G o, e

:T,:;.ﬁ?qsﬁmm?mw\% !mﬂ@anWWmﬁWm

Az, WO 2R (T A 30T et Jferen oot w’gg
@&m@mﬁwﬁmﬁﬂmwwwﬁ%m'

e 1518 Rl O T COICeT 7 | SR, ot <t
ﬂﬂmﬁaﬁﬁmm%wﬂiﬁmwm@mﬁw

(C) TSl @RS (D) =g @RS

32, ‘offipw-fersa AmteTaa Prorea 25t @ cfes-d,

o7 (O | G T 312 PR o e 1 3 AR |

B et e I R S —— Teoicea oRot WTwa wd—
e STETSR (02 (07 (TS 2ifS WTa | 3% W1 21T couev 35S (A) = (B) I
so1TS — AT S 22 VLI BT | (NCat ot s 5T (©) (D) Fia
it e P19 | BTCET S0, S -u e B whre “wier'a, s
e | (s SRTEA s WG, ‘M5 =Abrew (e T, Wi 33. “gweE At GR ATV
S STl A GG | ST 11 <P, ST (oA 56 (e e ras’s Rstfretds == T—
HITS T3 G iﬁwﬁﬁs‘%ﬁmwﬁwﬁm (A) el (B) =l
@ (N eF-41, AP AT 16 WL OIereii® et et
gﬁzaéwcﬁ?m?mmiwﬁipmwmﬁc&mm (& W ) N
e 5 ST 1 U TS T 0 07 O COT O3 s et s SPTC:1-SPTC SI «0 CSTC,
o T W FA G2-<2 MRSTH I (ST TS | L=, ISP
s T T 2 T a1 G (8 | G oig) (e i -—
R < 7 B0 | O A R A | o WO T s ¢ ki
STl F-g B TS AT 203 WG | TR 2 S (A) <0 ®) ffce
W—-mquﬁﬁmlmmwmmwm, © (D) <=0t

177 7 28 S A |
o537 st TR o=l Colrel TR TS | e e

35, ‘AT ot AR e 37a- g oA TS IS
A EEl

Ao ST e, IS 3 CRR et €0 | P ot AT 2T e (iR AT —
szl mgumﬁﬁmwﬁmﬁmmmﬁwmﬁt - o .
ITH! T AT (PEIETRCE A | (A) TG e
- e-fg SR BITe-AI-BITS (T (T @i <A (©) CAfa e (D) % &

36. ‘(RIS mwmﬁmmwmmw

%, (AT BT, ST T, G W | e o R O ey e Frey-ceett Ao sfeata ¢
ﬁm'n@@ﬁwma;wmwaﬁww%% frrafgoombasd—
w6 g i <27 T2, “e faf, Rew(s I T ¢ i (A) 2 (B) ‘-4
SIAEIe GReT'; 6 fafiat coM, X, e, TGN (@ T3 1 © (D) et
oo e R | FAICE R s -2 i e
tﬂaﬁm‘wrﬁnmmﬂﬁm”“ i 37, om0
aﬁmﬁaﬁﬂqmﬁ@-cﬁﬂ’ﬂmﬁa@ﬁ@m' A—
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Read the following passage carefully apg

0. 61-69.

In what was surely an yp,
jaureate Anne L' Huillier descrip
when Adam Smith reached her
pad received the news. In this brief o
special 1t feels to receive the prize
(he overtones 0_1 light, which
continues to excite her.

PART - ¢

answey Question

(Iersmlcmcnl, 202
ed herself “a little
a coup|

3 physics
1 bit bugy”
€ of hourg after she
: all, she describes how
and how hep research ingo
she Tevealed ip the 19805

Interview transcript:

Anne L' Huillier
Adam Smith

Anne L' Huillier
Adam Smith

Anne L' Huillier
Adam Smith

Anne L' Huillier
Adam Smith
Anne L' Huillier
Adam Smith
Anne L' Huillier

Adam Smith

Anne L' Hyillier

Adam Smjh

Anne L' Huillier

: Ican well imagine, and | pro

what is it t

. Of course, may I just as

. This is a basic rese

: Hello?

Hello, this is Ad
nobelprize.m'g,
Anne L' Huillier?

Yes, butIam a little bit busy now,

am Smith calling from
am [ speaking with

: : ‘ mise not to
©CP you on the phone for more than two
or three minutes,

¢ Ok.
. Thank you very much, I gather that you

were teaching when you heard that you
had won the Nobel Prize and I just
wanted to know what your students
thought of this news?

+ I'think they were very happy.

Of course.

It was really fun, let’s put it this way!
It must have changed the lesson.

Yes, but I tried to, I continued my
lecture.

: That shows tremendous presence of

mind. I gather that it must all be a fairly
overwhelming thing to happen, and
you're deluged. But I suppose, I mean,
I recall that you were on the Nobel
Committee until what, 2015, so you
know all the behind the scenes stuff, you
know what led to this. Does thal,m some
way, make it even more special that you

know how...
Yes, yes, it

definitely does and'I kn'o,w
o get a Nobel Prize, It's
bult. and I know the \fvork
done by the committee,
ateful.

k you about the,
st about the thrill of

ud o seC lides of
i e sort of secret sli

5 ng these sor B .

]biroh[y‘the overtone yDU re able to create
e

ears ago‘ I gUCSE'u
It was almost fmgh);d on to this. What

u were switch i
iﬂslaiilyliat makes it just SO thrilling

study?

extremely diffic
behind, which 18
so I am very, very &b

you know, ju

31'Ch, 1 don'[ know,
not expected, and

it was .
w, 1 derstanding, took

this was ne A
not predicled. The u

Languqge.

Il — English

some Itime, took several years. So it was
very interesting to study and to try to
understand more, and then later on,
many years after, look for applications
and explore new things with it.

¢ It seems such a wonderful combination
of the head and the hands, if you like,

" the complexity of the theory and the
practicality producing these exquisitely
sensitive pieces of apparatus.
Yes, I mean this is what makes the field
$0, 50 exciting and even now, thirty years
afterwards, we are still learning new
things, we are still trying to improve the
process in order for some applications,
so it is complex physics, but that makes
it very, very interesting.

: Of course, thank you very much indeed,
and thank you so much for speaking to
me in the midst of all this.
Congratulations again,

: Thank you!

Adam Smith

Anne L' Huillier -

Adam Smith

Anne L' Huillier

61. The phrase ‘behind the scenes’ refers to work
done—

(A) publicly

(C) surreptitiously

(B) 0}’6[‘[1)’
(D) "unreservedly

62. In the brief telephonic conversation, Adam Smith
stated that Anne L' Huillier must have felt that—
(A) itis a regular humdrum affair to receive the prize
(B) she was overwhelmed on receiving the prize
(C) receiving the prize was a very mundane affair
(D) receiving the prize made her feel disturbed

63. “... explore new things with it.”” Exploration -based
learning helps children learn through—
(A) excursion (B) reflection
(C) rote memorisation (D) curiosity and inquiry

64. ‘Overtone’ as used in the passage refers to—

(A) any frequency lower than the fundamental frequency

(B) any frequency higher than the fundamental
frequency

(C) any frequency equivalent in range to the
fundamental frequency

(D) any frequency that is not at all related to the
fundamental frequency
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PART-C
Language-I1 — English

65. “I recall that you were on the Nobel Con!mitte.e,“
the correct alternative of voice change of the given line

should read as—
(A) Itis being recalled by me that you are on the Nobel

Committee

(B) It was being recalled by me that you were on the
Nobel Committee

(C) It is recalled by me that you were on the Nobel
Committee

(D) It was recalled by me that you are on the Nobel
Committee

66. Statement I : Iunderstand that you were taking a
class when you heard that you have
received the Nobel Prize.

I comprehend that you were
teaching your students when you
learnt of having received the Nobel
Prize.

(A) Statements I and II are false

(B) Statement I is false and Statement II is true
(C) Statements I and II are true

(D) Statement I is true and Statement II is false

Statement I1:

67. ‘Deluged’ as given in the passage is a/an—
(A) verb (B) adverb
(C) preposition (D) interjection

68. ‘It seems such a wonderful combination of the head
and the hands.” Use of head and hands pedagogically
refers to—

(A) rote learning
(C) learning by thinking
and doing

(B) learning by thinking
(D) learning by doing

69. “... it was not expected and not predicted.” Choose
the correct alternative for the above expression—
(A) It was neither expected nor predicted
(B) It was unexpected and predicted
(C) It wasn’t expected but predicted
(D) It was either expected or predicted

Read the followin a "
nos. 70-79, & passage carefully and answer Question

There was once a herds
Wa _ man, a lad of 14 years, who
tg;r ﬁa!;;{:?}?i :'hslilf; watchm_g over the village sheep. He wanted
i g Src exeiting. So, he yelled out that wolves
ad come over and were attacking the sheep. All the vi

came running todrive the woly p- All the villagers
= If Th\m ves away. However, on arriving,
they spotted no wo » AHE lad was amuseq but the villagers
were not. T"hey told hlm'nlot o do it again. Shortly after, he
repeated this antic. The vil AR T running again, only to
find that he was lying blatantly. This made them furious and

they left, warning him of dire consequences.

[28]

A few days later, the lad actually spotted a wolf
sneaking amongst the flock. He jumped up and called out fgr
help. But none turned up because they felt that he was stl_l]
joking and trying to fool them. At sunset, when the lad did
not return, the villagers started looking for the boy. They found
him sitting on a hillock, crying dejectedly. He told them that
a wolf had really come and attacked the sheep. An old man
came forward to comfort him and told him that none would
believe a liar even when they were being honest. And the liar

has to bear the brunt of his action.

70. ‘Antic’, as referred to in the passage, means—
(A) kind behaviour (B) optimistic bchav:gur
(C) foolish, outrageous or (D) pessimistic behaviour

amusing behaviour

71. The herdsman tried to fool the villagers because—
(A) he wanted to disturb them
(B) he wanted to derive some fun
(C) he wanted company
(D) he wanted to show them how careful he was

72. ‘in an open and unashamed manner’— This phrase
as used in the passage, means—
(A) dejectedly (B) actually
(C) blatantly (D) really

73. Statement I : No one rushed to the lad’s aid as they
felt he was fooling them.
Statement II: No one turned up to help the lad as
they were tired of his antics.
(A) Statements I and II are true
+(B) Statements I and II are false
(C) Statement I is false and Statement I is true
(D) Statement I is true and Statement I1 is false

74. ‘finding something or someone’— The phrasal verb
for the quoted expression is—
(A) calling out (B) looking forward
(C) yelling out (D) looking for

75. The villagers hoped that their warning would
dissuade the lad. If the above sentence is rewritten, without
altering the meaning what will be the correct option?

(A) That their warning would dissuade the lad is
what the villagers hoped

(B) That their warning will dissuade the lad is what
the villagers hoped

(C) That their warning would dissuade the lad was
what the villagers hoped

(D) That their warning might dissuade the lad is
what the villagers hoped

76. “An old man came forward to comfort him.”
‘Comfort’, as used in this line, can be replaced with—
(A) console (B) combat
(C) congratulate (D) compliment
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. “None turned up because they p, "Buage-I1 — Epgjish,
- " js an example of a— Vielt that he Was stil|

okings 3
joking (A) Simple sentence

(B) Complex sentence
(C) Compound sentence
(D) Double sentence

78. “... a wolf sneaking amongst the
an—
ol (A) Common Noun
(B) Collective Noun
(C) Proper Noun
(D) Abstract Noun

flock,” ‘Flock’ js

79. The moral of the story is—
(A) Do not believe cowboys
(B) None disbelieves a liar
(C) Liars are always successful
(D) Liars are always exposed

80. A good piece of writing in English involves—
(A) incorrect punctuation
(B) ideas, presentation and coherence
() flowery language
(D) illegible handwriting

8L. ‘Pedagogical grammar’ means—
(A) teaching of grammar from form to use
(B) teaching grammar out of context
(C) teaching only the rules of grammar
(D) teaching grammar in context

82. A scoring guide, used to evaluate the quality of
Students is called—
(A) Rating scales
(B) Checklist
(C) Inventories
(D) Rubrics

unds.
83. English language has consonant so

(AL 24
«5) 25
() 26
.i]‘i':- 27

. i own
84, ‘Study of meaning’ in a language is kn as—
A) semantics
() syntax
linguistics
/) morphology

[29]

85. Effective learning in a classroom sin
Place when the learners are—
(A) passive
(B) able to score high marks
(C) interactive
(D) fluent in the language

1ation takes

86. When young learners are taught to improve their
spelling and punctuation, they will—
(A) improve their accuracy
(B) nurture their creativity
(C) sharpen their listening skills
(D) enhance their fluency

87. Writing the title of a story on the blackboard, the
teacher asks the class to guess what the story is about.
She/He does this to—

(A) improve students’ vocabulary
(B) make the story less interesting
(C) let the class guess the content
(D) let the class guess the word meanings

88. Dyslexia is a learning disablity that negatively
affects the understanding abilities in terms of—
(A) Reading
(B) Oral language
(C) Sign language
(D) Dialect

89. Which evaluation is done by the teacher during the
process of learning?
(A) Summative evaluation
(B) Term-end evaluation
_(C) Product evaluation
(D) Formative evaluation

90. The purpose of CCE in learning English as a second

language is—

(A) to administer weekly tests

(B) to assess the learners’ understanding of the
textbook
to assess their learning gaps and help learners
achieve the expected learning outcomes in
' both scholastic and co-scholastic areas of
knowledge
to assess their learning gaps and help learners
achieve the expected learning outcomes in only
the scholastic areas of knowledge

(©

(D)
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91. The sum of the numbers of prime factors of 1540,
21450, 1111 is—
[The factors may not be distinct]
(A) 12 (B) 7
© 11 (D) 13

92. The number of days in the 18th century was—
(A) 36525 (B) 36524
(C) 36625 (D) 36624

93. Which one of the following is the closest estimation-
interval of [§] ?
7
(A) 0428574126 < % < 0482571429
B) 0498751426 < % < 0528571429
(C) 0428571426 < % <0-428571429

(D) 0-425874126 < % < 0438251429

94. Bakul has started reading a book of 4818 pages. In

three consecutive days she reads % part, 2—314; part and

Iiiﬁ part of the book respectively. The number of pages

of the book, left for reading, is—
(A) 1727 (B) 1738
(C) 1832 (D) 1742

95. If a number (natural) be divided by 893, the
remainder is 198. The remainder, when that very number
is divided by 47, is—

(A) 38
(C) 17

(B) 10
(D) 05

96. ‘p’(>2) is a prime number. Then H.C.F. of
(p+1)and (p-1) is— ;

(A) 21 (B) =1

(©) 22 (D) =2

[30]
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Bengali Version

91. 1540,21450, 1111~ (AT BeAATPra Feagtg oy

“_.
[Sertvaafe ojo® e T A7)
(A) 12 (B) 7
©) 11 (D) 13

92. 18 *ors faraa et fem—
(A) 36525
(C) 36625

(B) 36524
(D) 36624

3
93, fferfaeafem g = [;J -7 Fraben I
S-S ?
(A) 0428574126 < % <0-482571429

(B) 0498751426 < % < 0-528571429
(C) 0-428571426 < % < 0428571429

(D) 0425874126 < % < 0-438251429

94. I 4818 #i1ora 93 T2 *Ivre vF (A | 27 o7 fowim
o1 a2 2 we, 34 g e 2 oot oirs cor

73 219 146

W67 IOl wAret vt AT s orm ey T—
(A) 1727 (B) 1738
(C) 1832 (D) 1742

95. @@l FAITF (Feifes) 893 wrat ot warat wisier 23
198 | 7eunifbra 47 Wit ©1% w 2T SioeE Tv—

(A) 38 (B) 10

©) 17 (D) 05

96. ‘p’(>2) T@ a3fb Cifers wedyt | wiEEa (p + 1) €
(p - 1)-a7 43419, T9—
(A) 1
(C) 22
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H.C.F. of x and y will be— Mbers with X <. Then,

(A) > xalways

B - f .
(CF <xulwigs (B) > xfor some special cases

D) <x always

99. P> Py Py +s P, are ‘n’ nat
P Ey e Py ural numb o
not composite and none of them is 2 PRy

Given: 1 + PyPyPy-p, = prime
then,p] TP, +p,++p =
‘ - n
(A) nxn (B) 2n
(C) n (D) n-1

100. In the figure, A ABC, A DEF and all the
6 small identical triangles are equilateral.
A

The ratio of the area of the quadrilateral PDES to
that of hexagon PQRSTU will be— ;

(A) 1:1 (B) 15:16
(C) 6:5 (D) 5:6
101.
1 1 2 6 42 ?
Entry in the sixth box is—
(A) 1806 (B) 1764
(C) 462 (D) 378

12 cm. in length,
(in cm.) are natural
can be

102, The perimeter of a triangi.e is
where the measure of all the three sides (in €
Numbers. How many such different triangles

formed?
(A) 2 (B) g
(D)
pact 5/8. Twice its numerator

Then the difference of
. b

the denominator and the numerator of the fraction will
# (A) 14 (B) 69

(©) 23 (D) 46

> -

PART—D
English Version Mathematics
: 91. The Il:;nith of a rectangle js Breater thap jts breadth Bengali Version
y4 cm. and its area is X cm2, y¢ ¢ 97. = wiweraE crraz |
by 2 em. and the breadth be lllt:re;::e:;';gth be decreaseq o : [ e oTEA 5w 4 Cﬁ,ﬁ,w i
new rectangle formed is of areq y em? ]{‘hl cm., then the - ? zmm; X Af’) e @@ o 2 i AT T
(A) X<vY B o s i sy '”-“';‘fm“'“%‘ﬂfﬂmﬂmﬁwu
o Py (B) X<y O cwawa wfd ¥ LR 5w, sra—
| D) x>y (A) X<V (B) X<y
98. x and y are two whole ny € x>v (D) x>y

L1470, 03 73 € T w9 A

[31]
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98. xaymgﬁmawnaauqlm.xey-m
AL, Tra—
(A) 77 > x (B) T farers cwva > x
(C) 7t < x (D) 547 < x
99. PPy Py s p, T8 0’ T AISITE Sy WAt 2B Y
AT WY, 2 79 |
oG : 1 +p @p,...p, = 92 cifers v
’pl +p2 +p3 +...+p" =
(A) nxn (B) 2n
(C) n (D) n-1
100. f5ta A ABC, A DEF & 731 6 5 carist e fen
e e fage)
A

E
PDES 53$t& (%q%e ¢ PQRSTU T9STSH (Ha#T#a
TS TI—
(A) 1:1 (B) 15:16
@ 6:5 D) 5:6
101.
1 ! 2 6 2] 2
T AT R Tw—
(A) 1806 (B) 1764
(C) 462 (D) 378

102. @< faerem «fadfwa g 12 GIf, @t w=fe
a7 T A Treife et (LR 9 te) | gm et voalm

fow farger 1w wat w@3 2
(A) 2 (B) 5
© 4 (D) 3

103. @b OHI 5/8 -7 Fagey; A LA Red e iR

(B) 69
(D) 46

(A) 14
(C) 23
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104. x is a natural number and for every digit of it, place 104. x c mmw eyt y- T8 T Xy-TA TN g
value and the face value are the same. Then for any whole <t A |C51'ﬂi B) <y
number y, the value of xy will be— (A) 2Y D) =
(A) 2V (B) <v (© =0TFY @) =y
(C) =0ory D) =Yy B i 552 m,s{gﬂﬂqﬁawmﬁgm
105. The product of two whole numbers is 552. The 105. ¥fo =4S
smallest possible sum of these numbers is— ae 3T 26— (B) 98
(A) 38 (B) 98 (A) 38 D) 47
(C) 553 (D) 47 cy (553
et A TR S el gl oy

106. Subitizing plays an important role in developing the
number sense. Which of the following is an example of a
learner demonstrating the skill of subitizing?
(A) Learner recognizes the number 6 as 1 added to 5
(B) Learner recognizes the number 4 as the number with
1 taken from 3
(C) Learner rolls an unbiased die and is able to say it is
four without actually counting the dots
(D) Learner recognizes the number 5 as the successor of 4

107. There are some statements given below:
(I) Multiplying a number by another always increases
its value.
(II) Dividing'a number by another nonzero number
always decreases its value. '
(II1) A number multiplied by 10 always has a zero at
the unit place. '
(IV) Multiplication is the inverse process of division.
Identify the correct option—
(A) (I) and (II) (B) (III) and (IV)
(C) Only (I (D) Only (IV)

108. Which of the following is not a mathematical
process?
(A) Visualising
(C) Estimating

(B) Memorising
(D) Transposing

109. ‘The sum of any two whole numbers is a whole

number’— This property of whole numbers is referred
to as— -

(A) Commutative property

(B) Associative propert
(C) Distributive property i

(D) Closure property

110. In dividing a number by 1001, a boy employed the
method of short division. He divided the number by 7, 11

- . ?
and !3 in succession and obtained the corresponding
remainders 5, 6 and 7 respectively. The complete remainder
when the number is divided by 7 x 11 x 13 js—

(A) 539 (B) 586

(C) 581 (D) 544

106. TR CATHA
) e oD P ORI ! s

Trrgad ?
(A) S—tﬂﬂﬁﬁlmﬂﬁ'{ﬁﬁ'ﬂﬁ6ﬂwﬂm%m
(B) smtmﬁmﬁtﬁﬁmﬁ?mﬂwﬁwmm
(©) Wﬁaﬁmﬁwwmmmtﬁiaﬁm
ﬂwmmmm@mﬂﬁm
@) Fredl 5 ARAIMOE 4-97 szl fBE Aghe 0w

107. fors g ffe ewme ==
(1) @B FRACE ToR G AR [ G FA o1 W

st 3 i
() @ ARGE A G S ALY A O T
A+ 74w g A
) 10 v ofe @2 T e B T G
ATF|
(IV) @9 z& sae [9dre afewar
is el we sEi—
(A) (I)«3g D) (B) (III) @R (IV)
(C) @y (10 (D) @ (IV)
108. ieoa RS snfefow eifem w2
(A) 60 oqai (B) Wz Al
(©C) g = (D) a3
109, 'C3 TN 1Y e i s s wrde AT — T
MY 92 S 36 TH—
(A) i af (B) e &
(C) A%+ 45 D) ot 45

110, B 3001 1001 5131 1ot o e, B AT
1%l AT 2 At G ARorE 7, 11 9 l3ww
S T R A Srrerme T 5, 6 99% 7
FRBTE 7 x 11 x 13 71t oot 2oy 2, 5oy SICTE T
(A) 539 (B; 586
(©) 581 (D) 544
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{11. The maximum number of ¢

pl:mted 20 metres apart on the two sid

1760 metres in length are—
(A) 178

(C) 180

€es which can pe
esof a Straight road

(B) 176
(D) 174

3
112. T of one centimetre indicates—
(A) 30 millimetres
(C) 3 millimetres

(B) 3 decimetres
(D) 03 millimetre

113. If93P25Q is divisible by 88 then the value of P and
Q respectively is—

(A) 2and 8
(C) 6and 8

(B) 8and2
(D) 8and6

114. The two numbers, both of which are greater than
29 having 29 for their H.C.F. and 4147 for their L.C.M.
are—
(A) 377 and 406
(C) 203 and 261

(B) 319 and 377
(D) 261 and 319

115. At what level of Van Heile’s spatial/ geometrical
understanding, a child is likely to accept that a square is
also a rectangle?
(A) Level O (Visualization)
(C) Level 2 (Relationship)

(B) Level 1 (Analysis)
(D) Level 3 (Deduction)

116. Match the following in List I with those in List I

and choose the appropriate code—
List I
(a) Galileo

List IT

(i) Mathematics is the gateway and

key to all sciences. '
matics is the lJanguage in

. i athe .
(b) Bacon (ii) z:lhich God has written the
universe.
. ic g way to settle
(¢) Aristotle  (iii) Mathematics 3 ren a habit

in the mind of child

reasoning. .
of he science of

(@) Locke (iv) Mathematics Isik
quantity-
w B Cd o
(A) (i) (i) o (i)
(B) (1) (i1) (?.v.) (iv)
(©) (i) @ @
(D) (iii) @ ¢

[33]
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111. 1760 fi5ra e @3 Get a1 woi 20 st w2

I FIATE O 74 ALl Th—
(A) 178 (B) 176
(C) 180 (D) 174

3

112, a5 =fhGtaa T G frrie Fra—
(A) 30 ffsEfsma (B) 3 eHfmE
(C) 3 fifafnm (D) 0-3 fif=fise

113. =f 93P25Q, 88 917l fasey T oTa P 422 Q-3 T T
FYETT—

(A) 29=%8
(C) 6498

(B) 84922
(D) 84936

114. 292! I2&A T AKYIR 11,0, 29 TRAA.Q. 4147 |
AT %6 za—
(A) 377 @=% 406
(C) 203 @32 261

(B) 319 «=x 377
(D) 261 @@=} 319

115. g7 iR Pfe/ @ififes @E @R 3@ oFe=
i Frovia FaTS ~Na @, 93 fwae 3 Sfversa?

(A) BT 0 (60 7fa) (B) w7 1 (Ruare)
(C) w7 2 (i) (D) w3 3 (fure=m)
116. I+ iferatn eive Renafe sox 11 = sifezn Sfafte
frmefers fie Jra whe et @efim—
- wfael oiferar 11
(a) smferfere (i) e = R@wime s=a M
erea @ sifRefs)
(b) @@ (i) sfds z@1 G} S TR = TBR
a2 R e
(c) SofeoRa (i) ofdrs 2= Frea o gfen Aw vt
eI ST @o Bt
(d) =% (iv) fde z= vifamies e
(a) (b) (c) (d)
(A) (i) (i) (iv) (iii)
(B) ) (iii) (iv) (ii)
(©) (i) @) (iif) (iv)
(D) (iii) @) (ii) (iv)
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117. What is the correct sequence a teacher needs to follow
to explain the concept of a ‘Quarter’ (/) in class I11?
(i) Showing pictures representing ‘a quarter’
(ii) Providing concrete material objects and dividing
them into ‘quarters’
(iii) Writing the symbol of a quarter on the blackboard
(A) (i) > (i) = @) (B) (i) = () —> (i)
(©) ()= (i) > (i) (D) (i) — (i) = (i

118. Following are some questions asked by the teacher
in the mathematics classroom:
(I) What is the area of the rectangle whose one side is
5 cm. and perimeter is 30 cm.?
(I1) Find a set of numbers whose mean is 5.
(IIT) List all prime numbers between 0 and 20.
(IV) Tell me the mathematical information you know
about rectangles.
Which of the following is correct?
(A) (I), (I) and (III) are close ended and (IV) is open
ended question
(B) (I) is close ended and (II), (IIT) and (IV) are open
ended questions
(C) (I) and (III) are close ended and (II) and (IV) are
open ended questions
(D) (I) and (II) are close ended and (III) and (IV) are
open ended questions

119. In the following pattern

the missing term is—
(A) 210
(C) 425

(B) 184
(D) 241

120. A wire is to be sold in multiple of 1 metre
A person needs some pieces of 85 cm. The minimum lengtl;
of wire when loss is minimum is—

(A) 17m (B) 1m

(C) 85m (D) 85m

Bengali Version

17, g s TR i
ﬁ'ﬁ;ﬁ casﬁ{mﬁlﬁ oeprad FACA?

(ii) TS TAW At e aF-bgHite e
(iii) TS wssgvftw GoIEd cmn |
(A) (iii) = (i) = () (B) (i) = () - (iij
& a) = (iii) — ) (O) (i1) = (iii) » (i)

118, e e e/ s Rt fog e i
eg T
) WWWWSC&&-M’@WMG&
ot CraTe ¥ TA?
1) <@l Y@ @6 A A TE S|
(II1) 0 A2 20-97 TG F7Fe Gifers Ayt wifeaige o
av) wEerEa FE (1 i o2 ofil | o e
qCEAl|
ez core o= e
(A) (D), (IT) 93% (1) 2= TR 9R (IV) T TEIT =
(B) (I) = % @3 (ID), (II1) 9= (IV) T [e2E =
(©) (@) 93 (III) == 52T R (D) =R (IV) 21 e =
@) @) 9k () = %2 G2 () 9% (V) Z oA

119. FrsfEfs 5o

e o zn— ;
(4) 210 (B) 184
(©) 425 (D) 241

H

120. mmlﬁﬁ@aaﬁwwﬁ@wﬂimﬂg

85 i, rr<ia P et etcarem e R T
[ix -

(A) 17m
(C) 85m

(B) I1m
(D) 85m

[34]
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121. Air pollution resultjp
be detected by measuring

compounds?
(A) Sulphur dioxide

(C) Scandium oxide

8 from Yolca

. nic erypgi
which one Uption cap

of the following

(B) Stront
(D) s

ium oxide
tannic Oxide

122. Identify the incorre
microplastic—
(A) Microplastics have been
(B)

ct Statement regarding

©
chain

(D) Microplastics are easily bio-degradable substances

123, Which one of the following environmental issues
does the book ‘Silent Spring’ written by Rachel Carson
describe?

(A) Global warming (B) Harmful effects of pesticides
(C) Noise pollution (D) Air pollution

124. In which of the following years 21st CoP
(Conference of Parties) Climate Change Conference was
held in Paris (France)?
(A) 2015
(©) 2021

(B) 2014
(D) 2009

125. Hydroponics is the technique of growing plants in

Wwhich one of the following conditions? =S
(B) Air-less condition

(A) Nutrient-less condition -
o (D) Water-less condition

(©) Soil-less condition

. marine
126. Identify the least harmful direct Mreodh e
Cosystem— - a surface)
\A) Changes in air quality index (B) gjl;:?ﬂ]{fzzan
(€ Microplastjc pollution D) temperature

ides
. ins produces red
127, Which one of the follﬁm?st::il;]; ?PSP} in humans?

"diated Paralytic Shellfish Po B) Aflatoxin
'A) Saxitoxin (D) Boru]inum toxin
*) Bungarotoxin

cumulated along the food

[35]
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121, ﬁaﬁﬁmm@ﬁam%ﬂﬁmmmmmgﬁﬁ;
YRS BT 28T AR #1512

(A) T TRIWEG (B) Fetmamt wrfes

(C) W sBy (D) 5ifes wraEs

122. SiErwiefee e @ seafs 707 7w o fofes
FEA—
(A) WT0@ FECFEs <e 321 2ars
(B) Wit e (BasicsB) To1fz »fferfafem (PE) 932 S5
PN oAz Botfars RGN BT (PET)
2 NR2IGEa Tzl
(C) AMMPRI T3 MRt 2orea tara ey 70
(D) 25 271 12w toa-fae a3

123. wyie5s s ol wiizenis far wve 13 firrs

(R “ifRTatere s afefe zrars 2
(A) frd Termw (B) otz wfews 2erq
(©) e (D) IrgEe

124, fafefie i 7utm 210y For (F @ w% )
T A eI iRt () wwive 2t 2

(A) 2015 (B) 2014

(C) 2021 (D) 2009

125, fFraie segiefim st b 2ime i sufors Sfun
fam & I3z 20 ?

(A) e ()R s (B) 1g-REw o=y

(C) fe-RA g (D) R g

126. R TGO &0 AT T F o elorm e
fofee wwt—

(A) Y ST P47 ARTET (B) et Revraet (sropesy)
(C) wiEreriafos g (D) wZPTIaEs Sistrar

27. FAfee BRRQRR S0 (I S =R v Bewraa
a:]m'wﬁﬁﬁm aferar (Pramfr) 58 wz0
(A) EDR (B) =z
(C) TACAG (D) =A™ B
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128. What was India’s per capita electricity consumption 128. 2021-2022 s ?5[ Joee
in 2021-2022 financial year? Az Aqred afaae n—
(A) 800 kWh (kilowatt-hour) (A) 800 kWh (Wﬂ - m
(B) 555 kWh (kilowatt-hour) (B) 555 kWh (R eTT-SSH)
(C) 950 kWh (kilowatt-hour) (€) 950 kWh (ReeTIa T~ ST
(D) 1255 kWh (kilowatt-hour) (D) 1255 kWh (e e TTG-SMeTTs)
129. Identify the scenario not directly causing ongoing 129, SFEEISH Wﬁqg%?ww
anthropogenic loss of species diversity denoted as the ‘sixth genfes wifaae wo= Al o DS, Tt
mass extinction’— <Al erer 2eitd @ 9o A, C FFA—
(A) Pollution caused by harmful chemicals (A) FHETAT amirafaces S T
(B) foml SRR

(B) Global warming
(C) Reduced natality rate of species
(D) Loss of natural habitat

130. Which of the following animals is a benthic

invertebrate?
(A) Small shark (B) Sea anemone
(C) Flatfish (D) Sea horse

131. How much carbon dioxide gas is released into the
atmosphere to produce 1 (one) unit electricity from coal?

(A) 091 —0-95 pound (B) 2 -3 pound
(C) 0-01 —0-02 pound (D) 8- 10 pound

132. Carbon monoxide (CO) is—
(i) a greenhouse gas
(ii) a polycyclic aromatic hydrocarbon
(iii) a component in determining Air Quality Index
(AQI)
(iv) a Volatile Organic Compound (VOC)
Choose the correct answer from the options given
below—
(A) (i), (ii) and (iii)
(B) (i), (iii) and (iv)
(C) (iii) only
(D) (ii), (iii) and (iv)

133. Which of the following chemicals can be considered
as ‘green solvent’?
(A) Chlorofluorocarbons (B) Benzene

(C) Anthracene (D) Supercritical carbon dioxide

134. In which of the following phases, surface water
tem!)erature phenomenon of ENSO (El-Nifio Southern
Oscillation) of equatorial Pacific Ocean is called El-Nifio
phase?
(A) Cold phase
(C) Warm phase

(B) Normal phase
(D) Freezing phase

[36]

() R TR P T
(D) WWW

@S AT STawal e
(B) A-spifca
(D) F-=H (9 (o)

130. e endiefed g
(A) C2IB! AT
(C) FBRe (o#AB! T2

131. Wcmuaas)i@ﬁ%ﬁaa%mmmwwﬁm
A TETEIEe A et e =

(A) 091 - 095 #ITS (B) 2-34CS

(C) 0-01 - 0-02 #iITT (D) 8- 10 #e®

132. FiEs wraEze (CO) T —
(i) <= vz G
(i) @3 AR swEehs TG
(i) @ R Twes (AQI) fi T Gl TAWH
(iv) «=f Tl te= @t (VOC)
v o= eafe Fdiom sea—
(A) (1), (i1) @3= (iii)
(B) (i), (iii) @32 (iv)
(C) Bgg (iii)
(D) (ib), (iii) 932 (iv)

133. mmﬁﬁw WWW

A) FEFERE  (B) @
LS (D) FetrafEoa

134, et (Rraftm) eprg sreptorza wcefos o o (€
e ) B offn e i e
R ot 2o zm 2
(A) o= oy
(C) T= oy

o

a

Scanned with ACE Scanner


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

GET IT ON

Google Play

PART -E

Environmental i
English Version Studies

135. Which one of the fol]owing arrangements Bengali Version
! S remove

nrganiclma.tter from wastewater? 135. frsre qrgiommelm @ e s [ntned
(A) chklmg filters (B) Settling tanks B FA ?

C) Carbon filters )

(C) Carbon Hilters (D) Reverse osmosis (A) izt RS (B) ofar it (2fdten Syiem)

(€) s b (D) Fenf st (Fefe afega)

.. 136. Which of the folluwin i ﬁm e el @ H] (Fl+ B o bl
& ! g chemical compounds is 136
' responsible for ozone hole formalion in polar regiom - - QT f§|-3l‘ ﬁia;‘ 'Si ”"“E"- o
(St ﬂtospllel e)? - (m) q “ s '
(‘ 5) hthallﬂ (B) Chlf}rpyl‘lfos ( ) o r-J I:J):rvjv—-. -
(©) 1 ropane (D) Chlorine nitrate (C) calire« (D) (== wZmo

137. Being an EVS teacher your intention is to familiarise 137. aaom Afaraifama ffes/fres fEmme ool e @
rocks and minerals to your learners. Now one inquisitive e w7t R ra oA T oI 25 Cotae e | 93 e
learner asks you what element is present in most of the St Prm A e ek w7 i A ¢ Rems e

rocks and minerals? The teacher’s probable response will
fn et ot <t ¢ Rfae) R e Sel 7 —

(A) Aluminium (B) Hydrogen (A) SR
(C) Carbon (D) Silicon (C) ws

138. The loose material produced during weathering of 138. T SazfReita 78 weet TommefE @ eerdits adpe
rocks may become consolidated, this process is known as— 7 (72 oAb 6 TH—

(A) lithification (B) nitrification (A) Tl (B) “RLFE
(C) sedimentation (D) humus formation (C) szl (Rmrom) (D) BSwm siow

139. Which one of the following is an anadromous fish? 139. forw Tfafie wmefem o @md oWre™ TR ?
(A) Cyprinus (B) Hilsa (A) TR (B) X
(C) Rohu (D) Eels (C) 3% D) 7=

‘ 140. Which of the following animals is a detritus feeder? 140. Frare eifofm Ty o @ celom frem (@

(A) Rabbit (B) Lion sHo (oTe) ? .
(C) Pigeon (D) Vulture (A) s (B) fez
(C) ==l (D) *RP L

; ' herbe 141, FfRATSITA FwUIEFS AT Frwdiom swezs F
ino online classes, how will an EVS teac
;:lt t(? ;pr[l:;ﬁpriately teach visually challenged students? T ST e AT i/ B i

(i) By sharing voice messages

(ii) Using lots of oral explanation (i) Sy (R T TR T o
(iii) By peer explanation (i) TP I TR MG
(iv) Using concrete experience (iy) ¢ afowe! aTE T TG
(A) (), (ii) and (iii) (A) (@), (i) ¥R (iii)
(B) (i), (iii) and (iv) (B) (ii), (iii) € (1v)
(C) (i), (iii) and (iv) (&) (i},(iii)\ﬂﬁ‘i (iv) _
(D) (), (i), (iii) and (V) ' @) @, @, (i TRV
[37]
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142. Identify the scenario not associated with algal
bloom—
(A) Death of fish (B) Release of algal toxin
(C) Change of ocean current (D) Depletion of oxygen

143. Which of the following statements is correct?
(A) Migration of animals is not related to
environmental temperature
(B) Migration of animals is related to aggregation for
reproductive purpose
(C) Migration of animals is related with abundance of
oxygen

(D) Migration of animals is related to proving which
animal runs at what speed

144. A teacher is demonstrating different types of bone
joints to her/his learners with the help of a skeleton. Now
she/he points out the ball and socket joints at different
anatomical regions of the body. Identify the anatomical
regions—

(A) Knee and Elbow (B) Ankle and Wrist
(C) Skull and Vertebral Column (D) Hip and Shoulder

145. Animals and plants that contain genes introduced
from other species are known as—

(A) hybrid
(C) plasmid

(B) transgenic
(D) semi-hybrid

146. Read the following statements and choose the

correct option—

Assertion (A) : At the primary level, EVS has
themes instead of topics.
: Theme-based EVS learning
diffuses subject barrier and
promotes integrated approach
which is easy for teachers and
learners as compared to topics.
(A) (A)is false, but (R) is true
(B) Both (A) and (R) are true and (R) is the correct
explanation of (4)

(C) Both (4) and (R) are true, but (R) is not the
correct explanation of (A)

(D) (A)is true, but (R) is false

Reason (R)

Bengali Version

142. @ go (Patee i wifeqfe)-aa s e o
@ B, ¢t fofze swa—
(A) W=d 79

(C) T2PhE @Ied Afaada

(B) t*attera wifdfay fssge
(D) wifErEa-93 fsaaae

143, rva fgfoafem sy =t A e

(A) 2Tz “Afaam Afararaz sremar A riFs
CEl

(B) 2ifioia “Affar eigemeie e @ o
OFIS 26T A TfFS

(C) =lifiera AAfaare sifarera 2prfa A =fFe

(D) @ifirs AR @1 21 e we e o 2w
A TAfFS

144. g »faraeifawra Mfes/ frses 9o ssite@ st
Sta Rrdre R{few waree wipifea wae fres ) 9w ff
e fafem g oo 2ot @ T2s wiEmiE o warem |

=g ST *HIE FPET—
(A) Ep 8T (B) colfelf ¢ 3
(C) = Yfei @ e (D) fie= ey

145. fo ewifS cure eiafSe ‘fom wraead i a=e Sfewrs
et Zm—
(A) 7%=
(©) Zfe

(B) T#cEtee
(D) =i Agq

146. FTo3 AFSTA oG e e Rrg® carg v
9o 4) | el Ie Afrrafan fag-am

ATRATE 1 wfirafre 2o

P elRuEfRe T sifarefaen  faem
frfefes aryTe wftms wa
TR FTI GIR FAYFN YA
e i care s @z o feow
AT FifEe) firss R
i e w1rg sewrea |

(A) (A)=z= e, few (R) 2o 579y

(B) (A)& (R)Tex2 31e7 w2k (R) 71 (A )@ H0F

=Y

©) (A) % (R) Twx® ey, g (R) (A)-4 07
Rt T

D) (A)=z= 51wy, g (R) 71 e

& (R)

[38]
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147. Being an EVS teacher

0
trip in some regions of s‘mdy U have or

i
aland Biogj b

and discussed about endap versity Hotspot
gered f]
students mteracted. among thEmse]vgaa::(:_ l:una. No:.v
learning gaps. Which of the following j educed th-c:r
Sundaland Hotspot? £ 18 true regarding
GEOGRAPHICAL
AREA FLora Fauna
Eg; l;f‘I;(z;:.rram Orchid Irrawaddy Dolphin
: 1 1m Rhododendron Red Panda
(C) Tamil Nadu Cardamom Lion-Tailed
) Macaque
(D) Nicobar Islands Rafflesia Orangutan

148. Which of the two following brain centres act as
Global Positioning System (GPS) in humans?

(A) Hippocampus and Entorhinal Cortex

(B) Pons and Medulla

(C) Occipital lobe and Parietal lobe

(D) Frontal lobe and Cerebellum

149. Being an EVS teacher you have organised a debate
regarding causes for endangeredness of different animal
species. Learners expressed their views. Now at the end
of the debate, definite causes are ascertained behind the
depletion of the population of Royal Bengal Tiger,
One-horned Rhinoceros, Gangetic Dolphin, Sarpagandha
and Polar Bear. Which of the following sequences is the
most appropriate option? . \
(A) Climate change and global warming, Poaching, Habitat
destruction, Over-exploitation, Pollution
(B) Pollution, Over-exploitation, Climate :change and global
warming, Habitat destruction, Poachmg .
(C) Over-exploitation, Habitat destruction, Poachmg,
Pollution, Climate change andlglobal warming
(D) Habitat destruction, Poaching, Polluuon,’ Over-
exploitation, Climate change and global warming

150. Which of the following is the first Biosphere Reserve

in India?
(A) Sundarban Biosphere Reserve
(B) Great Nicobar Biosphere Reserve
(C) Nilgiri Biosphere Reserve

(D) Panna Biosphere Reserve =
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